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	Model 1: OLS estimates using the 25 observations 1-25

	Dependent variable: l_X
	
	

	
	
	
	

	 VARIABLE       COEFFICIENT        STDERROR      T STAT   P-VALUE

	
	
	
	

	  const               2,39883            0,442081        5,426            0,00003 ***

	  l_L                   0,214257          0,0470952      4,549            0,00019 ***

	  l_K                   0,307610         0,0667580       4,608            0,00017 ***

	  l_T                   0,267608         0,107623         2,487            0,02185 **

	  l_W                 0,181115          0,0450848       4,017            0,00068 ***

	
	
	
	

	  Mean of dependent variable = 6,87871
	

	  Standard deviation of dep. var. = 0,0366214

	  Sum of squared residuals = 0,00143463
	

	  Standard error of residuals = 0,00846945
	

	  Unadjusted R-squared = 0,955428
	

	  Adjusted R-squared = 0,946514
	

	  F-statistic (4, 20) = 107,179 (p-value < 0,00001)

	  Log-likelihood = 86,5981
	
	

	  (Log-likelihood for X = -85,3697)
	

	  Akaike information criterion (AIC) = -163,196

	  Schwarz Bayesian criterion (BIC) = -157,102

	  Hannan-Quinn criterion (HQC) = -161,506
	


	Restriction:
	
	
	
	
	

	 b[l_L] + b[l_K] + b[l_T] + b[l_W] = 1
	
	
	

	
	
	
	
	
	
	

	Test statistic: F(1, 20) = 0,187653, with p-value = 0,669513
	

	
	
	
	
	
	
	

	Restricted estimates:
	
	
	
	

	
	
	
	
	
	
	

	  VARIABLE   COEFFICIENT   STDERROR    T STAT   P-VALUE

	
	
	
	
	
	
	

	  const               2,28056            0,340914      6,690  <0,00001 ***

	  l_L                   0,227422         0,0352738     6,447  <0,00001 ***

	  l_K                   0,319554         0,0596105     5,361   0,00003 ***

	  l_T                   0,274477         0,104370       2,630   0,01566 *
	

	  l_W                  0,178547         0,0438203     4,075   0,00054 ***

	
	
	
	
	
	
	

	  Standard error of residuals = 0,00830403
	
	
	


	Restriction set
	
	
	
	
	

	 1: b[l_L] + b[l_K] + b[l_T] + b[l_W] = 1
	
	
	

	 2: b[l_L] - b[l_K] = 0
	
	
	
	
	

	
	
	
	
	
	
	

	Test statistic: F(2, 20) = 2,77382, with p-value = 0,0864555
	

	
	
	
	
	
	
	

	Restricted estimates:
	
	
	
	

	
	
	
	
	
	
	

	 VARIABLE       COEFFICIENT        STDERROR      T STAT   P-VALUE

	
	
	
	
	
	
	

	  const                 2,60051            0,343827                7,563  <0,00001 ***

	  l_L                     0,203614          0,0371514              5,481   0,00002 ***
	

	  l_K                     0,203614          0,0371514              5,481   0,00002 ***

	  l_T                     0,379118          0,103857                3,650   0,00141 ***
	

	  l_W                    0,213653         0,0453055               4,716   0,00011 ***

	
	
	
	
	
	
	

	  Standard error of residuals = 0,00912682
	
	
	

	
	
	
	
	
	
	


	
	
	
	
	

	Model 2: OLS estimates using the 25 observations 1-25
	

	Dependent variable: l_X
	
	
	

	
	
	
	
	

	      VARIABLE       COEFFICIENT        STDERROR      T STAT   P-VALUE

	
	
	
	
	

	  const                  4,93592                  0,271033               18,212  <0,00001 ***

	  l_L                     -0,00869934           0,0422960       -0,206           0,83893
	

	  l_T                     0,879869               0,0793060        11,095          <0,00001 ***

	
	
	
	
	

	  Mean of dependent variable = 6,87871
	
	

	  Standard deviation of dep. var. = 0,0366214
	

	  Sum of squared residuals = 0,00433632
	
	

	  Standard error of residuals = 0,0140394
	
	

	  Unadjusted R-squared = 0,865278
	
	

	  Adjusted R-squared = 0,85303
	
	
	

	  F-statistic (2, 22) = 70,6494 (p-value < 0,00001)
	

	  Log-likelihood = 72,7716
	
	
	

	  (Log-likelihood for X = -99,1961)
	
	

	  Akaike information criterion (AIC) = -139,543
	

	  Schwarz Bayesian criterion (BIC) = -135,887
	

	  Hannan-Quinn criterion (HQC) = -138,529
	
	

	
	
	
	
	

	Comparison of Model 1 and Model 2:
	
	

	
	
	
	
	

	  Null hypothesis: the regression parameters are zero for the variables

	
	
	
	
	

	    l_K
	
	
	
	

	    l_W
	
	
	
	

	
	
	
	
	

	  Test statistic: F(2, 20) = 20,226, with p-value = 1,57107e-005
	

	  Of the 3 model selection statistics, 0 have improved.
	


	              Summary Statistics, using the observations 1 - 25

	
	
	
	

	Variable        MEAN           MEDIAN           MIN             MAX

	
	
	
	

	Y              13,000          13,000            1,0000          25,000     

	W             895,36          892,00            804,00          1120,0       

	T               9,4344          9,4400           8,7400          10,080     

	K             448,16           444,00            380,00          508,00      

	L              36,752            37,600           32,000          40,000     

	X             972,00            972,00            912,00         1038,0       

	
	
	
	

	
	
	
	

	Variable        S.D.            C.V.            SKEW          EXCSKURT

	
	
	
	

	Y               7,3598          0,56614         0,00000        -1,2038    

	W              67,732          0,075647        1,3376          2,8344    

	T               0,36164        0,038332       -0,12048       -0,83471   

	K              33,833           0,075492       -0,025374     -0,79611   

	L               2,5983          0,070697       -0,48572        -1,2137    

	X              35,791           0,036822        0,37024        -0,59398   

	
	
	
	



